
Drawn By:

Apprv'd By:

Drawing No:

Scale:

Title:

Product(s):

Material:

Finish:

Specifications:

NOTICE

This document and the informa-

tion hereon are confidential and

are the EXCLUSIVE PROPERTY

of Akron Brass Co., Wooster, Ohio

and shall not be REPRODUCED

or USED without the prior written

consent of Akron Brass Co.

Government
I.D. No.:

00912 Sheet(s):

Design By:

A

B

C

D

1 2 3 4

A

B

C

D

Style(s):

BRASS COMPANY

Weight (LBS)

Area (SQ.FT.)

Drawing Notes:
Geometric Tolerances based on
ASME Y14.5
ALL of the following notes apply
unless otherwise specified:
 
1. DO NOT SCALE DRAWING
2. ALL dimensions are in inches.
3. Tol on all fractions +/-  1/64 
4. Tol on 3 place decimals +/-.005
5. Tol on 2 place decimals +/-.02
6. Tol on all angles +/-  1/2 
7. ALL inside corners to have
  .005-.035 fillets.
8. ALL outside corners to have
  .005-.015 chamfer or radius.
9. ALL machine surfaces to have
  125 finish.
10. ALL castings to have 250 finish.

Third Angle Projection

R

1.354
[34,4]

2X

1.675
[42,54]

12.675
[321,94]

4.376
[111,15]

5.403
[137,23]

14.342
[364,29]

13.000
[330,2]

1.354
[34,4]

2X

2.176
[55,28]

.971
[24,66]
2X

1.531
[38,89]

.893
[22,68]

2.697
[68,5]

4.501
[114,32]

.971
[24,66]

2X
1.531
[38,89]

.893
[22,68]

2.697
[68,5]

4.501
[114,32]

1.675
[42,54]

12.675
[321,94]

1 of 10.350ELREDescription(s):Part Number(s): 

0.000REVEL LED
ELRE-XLDC-SF28K DC REVEL SURFACE MOUNT DIMENSIONS

8/15CAF

ApprovedDateDescriptionChg.

8/15DRAWING RELEASE01

NOTES:
1.SEE LOCATION "A". THIS FEATURE IS
  CONSIDERED THE TOP OF THE LED.
2.HARDWARE NOT INCLUDED FOR
  ALTERNATE MOUNTING LOCATIONS.
3.SEE "NOTE B". RUBBER CAPS ARE ONLY
  NEEDED FOR SURFACE MOUNTING.
4.BRACKETED DIMENSIONS ARE IN
  MILLIMETERS. ALL OTHER DIMENSIONS
  ARE IN INCHES.

THRU HOLE FOR M5
SURFACE MOUNT HARDWARE

4XA

M8 X 1.25
3X

ALTERNATE MOUNTING
LOCATION

M8 X 1.25
2X
ALTERNATE MOUNTING
LOCATION

M8 X 1.25
2X
ALTERNATE MOUNTING
LOCATION

B

B

B

M8 X 1.25
3X
ALTERNATE MOUNTING
LOCATION


	Sheet 1
	Views
	new_view_6
	new_view_1
	right_2
	top_3
	bottom_4
	left_5



